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QUESTION 1

Which of the following statements about CAR are correct?

A. CAR uses token bucket mechanism to measure traffic and allocate bandwidth.

B. CAR can be used for incoming interface and outgoing interface.

C. CAR and queue scheduling cannot be used at the same time because of confliction.
D. CAR can be used to limit the rate of the specific type of traffic.

Correct Answer: C

QUESTION 2

Which of the following type of MPLS L2 VPN carries only one label on an MPLS network?
A. Martini

B. SVC

C.CccC

D. Kompella

Correct Answer: D

QUESTION 3

EVPN-VXLAN uses EVPN as the control plane and exchanges BGP EVPN routes between VTEPSs to implement
automatic V7EP discovery and host Information advertisement. This prevents unnecessary data traffic flooding.

A. True
B. False

Correct Answer: B

QUESTION 4

Interface-based ACLs define rules based on inbound interfaces of packets to filter packets. Run the "traffic-filter
command to invoke the ACL.

A. True
B. False

Correct Answer: A
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QUESTION 5

PIM-SM relies on particular unicast routing protocol for RPF check.
A. True

B. False

Correct Answer: B

H31-124 V2.0 PDF Dumps H31-124 V2.0 VCE Dumps H31-124 V2.0 Exam
Questions

H31-124_V2.0 PDF Dumps | H31-124_ V2.0 VCE Dumps | H31-124_V2.0 Exam Questions 3/3


https://www.passapply.com/h31-124_v2-0.html
https://www.passapply.com/h31-124_v2-0.html
https://www.passapply.com/h31-124_v2-0.html
https://www.passapply.com/h31-124_v2-0.html
http://www.tcpdf.org
https://www.passapply.com/h31-124_v2-0.html
https://www.passapply.com/h31-124_v2-0.html
https://www.passapply.com/h31-124_v2-0.html

